EARAZROREIERT — 2 N—XBISY —F 201851850 (£) 11[@EIIB5H

mqﬂﬁ%iﬁﬁiﬁﬁﬁﬁéﬂﬁ C2EN A ¥ FR—M# (w8 | mEmml - |5 5 o s
[A&4] 1 7% :1,000,000 @ 23 :340,000 @ 33 :200,000  ~ 4 3% :140,000 @ 5 7 :120,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- > Lyl Es + 132, ~3-5- . — NAAZ (1)
1| RTRIVTIZX B 74 560 1(3_2)2 A ? 5_037) s
RO—T X124 B:ovR—94y7 =itie]
So=_ 4t 6 | BHE 1:32.6 1-1-1-1 | 39.8| — 5 466 | EAE (1)
2|55 7—NTx= 54.0 @) (-11) | KAmRmE
R:TIRAFTEN BT —L 4 405
A o B4 | REEZ 1:32.9 6-6-6-5 | 39.6| — 1 | 413 |SBE— (k)
s 2| VI=>T)N=T 54.0 1172 -1) ’{:?EI*EE)\
SZANAF -0 BeEEXT > BE B=
. A : -8-3- — igats (1)
algli| 7Lr2ET- R -4 ey | T |00 P e |
R:XFAd—IK B:7R7-—FK () #8a—-FL—>a>@qE77
i i o4 | HEEX 1:32.9 9-11-10-8 | 39.1| — 6 460 | WITEZ (f84E)
sl 4| EITLT 5.0 75%) Gy BB
LY —N—F B:yav /37 Ebrzie]
= . 4 6 | BREA 1:32.9 4-4-4-5 |39.8| — 1 467 | FERESAE ()11I6)
cBls | TXF—T7F1—> 56.0 75%) () |BEBIA
R:g4XS 0 b B byILRE— L SRk
\ 4 4 | BBXEH 1:33.0 2-2-2-3 | 40.1| — 4 475 | tEZE (1)
71719 | P> 7 IV 54.0 (1/2) © | mExy-Ju
LK UTYRAIRX B:LHTT7 FE &
R - AHIES : -7-7- — IR (#a15)
8 lvInvz—n o4 el 1.(343).8 8-7-7-7 | 40.4 10 &6} b
R:VZRB—IZR2— B:HY-—~RVGT1TIR I EF 4505
B . EHBER :33. -9-8~ . — EREEZ (F3)
917110 JAILKE— FEL 4 5 54-05 1(13/32>9 9-9-8-9 |40.3 7 (5_015) e ]
L:TANVRTyYa B:T7)—T3r—%T> BRES 4%
A A 4 4 | TRERH 1:34.4 9-10-11-10 [ 40.6 | — 8 483 | AHEEIE— (J11iE)
EH g|7b—hav&— ¥¢53.0 @ 1/2) (-5) | EHER
840 B:XA4 T ayNAINR = re)
T T 44 | REAES 1:34.7 12-12-12-11| 40.6 | — 12 469 | EBIETE (1R
1115/ 6 AT T UL A 56.0 (11/2) (-9) BHAE
L:Z2Y—O—ILZ B:54h3I— 5% A
s S 4 4 | RPHEE 1:36.2 3-5-9-11 [ 42.9| — 9 430 | FHEE (I815)
12| 8|12| T H K13 54.0 0 o AT
L:B214Fx 0 ML B:YRF—FTI— BRESH 72TV INL—
® I —F—EBIERL
13=zr= 5,9,12,8,1,(2,11),7,(3,4,10) ,6
2al=7F= 5,9,1,8,12,2,7,11,10,3,4,6
G§a=7r= 5,9,11,8,1,2,7,10,12,4,3,6
40—+— |[5,1,9,11,(2,8),7,4,10,3, (6,12)
[ RN
B OB 1 310H 714K 1-5 940M e & 1-5 2,710H &R 1-2-5 52,490H
8 B 1 1704 1-2 2,370/ B 1=% 4,400M JEH 1-5-2 162,100M
5 360M 2-5 7,920 B E 1-5 3,200
2 1,280M B H 1= 4,610M

ABICOVWTRDTEEERROODE. TR LIV,



